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Answers

1.   831,167   

2.    1,000    

3.    171.8    

4.   898,660   

5.      17     

6.    1,000    

7.    1,000    

8.    509.74   

9.   568.232   

10.     100     

11.   579.668   

12.      10     

13.    555.4    

14.    157.76   

15.     617     

16.    30.564   

17.    1,000    

18.    1,000    

19.    7,008    

20.    1,000    

Use decimal multiplication and division rules to fill in the blank.

1) 831.167×1,000 =   831,167   

2) 520.651×   1,000     = 520,651

3)    171.8    ×100 = 17,180

4)   898,660   ÷1,000 = 898.66

5)      17     ÷10 = 1.7

6) 881.717×   1,000     = 881,717

7) 414,916÷   1,000     = 414.916

8) 50,974÷100 =    509.74   

9) 568,232÷1,000 =   568.232   

10) 929.2×    100      = 92,920

11)   579.668   ×1,000 = 579,668

12) 507.19×     10      = 5,071.9

13)    555.4    ×10 = 5,554

14) 1,577.6÷10 =    157.76   

15)     617     ÷10 = 61.7

16)    30.564   ×10 = 305.64

17) 657,250÷   1,000     = 657.25

18) 739,841÷   1,000     = 739.841

19) 700.8×10 =    7,008    

20) 258,966÷   1,000     = 258.966
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